SENTIA THE GLOBAL SCHOOL
Class I PT1 REVISION WORKSHEET — MATH
Lesson—1 Worksheet-1
1. Circle the bigger number.

a) 12 13 by 6 17 )4 0 d) 30 90

2. Circle the smaller number.

a) 12 6 b) 14 7 0 3 12 d 9 24

3. a) Write 3 numbers smaller than 19.

b) Write 3 numbers bigger than 11.

4. Fill in the boxes with a number so that the numbers are in increasing order.

a)6 10 12 b) 11 13 19

5. Fill in the blanks.

a) 1 ten and 6 ones make the number

b) comes before 20.

C) 14 comes between and

6. Fill in the missing numbers.

11 13 16 20

7. Write the number that comes after:

a) 2 )0

b) 13 d) 11




8. Write the number that comes before:

ay___ 5 o) 8

by 16 d) 19

9. Write the number that comes between.

a)4 6 c) 12 14

b) 18 20 d) 11 13

10. Write number names.

a)19:

b) 14:

c)17:

d) 16:

e)l12:

11. Write numbers in increasing order.

a7, 5, 4

b) 2, 1, 3

4, 5, 6

d 8, 9, 7

12. Write numbers in decreasing order.

a) 12, 18, 11

by 16, 2, 12

¢ 10, 20, 13

d 16, 17, 19




Lesson—2
1. Complete addition facts:

a)6 + = 10

2. Count forward and add:

a)9+2=
c)3+3=

3. Add vertically:
6 1
+ 2 + 0

4. Complete the combinations.

a)8 + 0 =
7+ 1=
6+ =8
5+ =8
_______+4 = 8
______+5= 28
_______+6 =8
2 + 6 =
1+ 7 =

Worksheet-2

b) 5 +

b)8+1=

+ 2



Lesson—3 Worksheet-3

1. Solve:

a) Jaya had 3 pens. Her brother gave her 5 more pens. Her sister gave her 2 pens. How many
pens does she have now?

b) Smita had 5 oranges with her. Her father gave her 6 more oranges. Find the total number of
oranges with her now.

c) 4 ducks were there in a farm. 1 duck went inside the pond. How many ducks are there now
in the farm?

d) Anush had 14 mangoes. He gave away 2 mangoes to Ram. How many mangoes are now left

with Anush?

2. Subtract:

1) o 2) 0 3T O 4 T O
8 9 1 4 1 7
- 6 - 5 -3 - 5

3. Swetha made a subtraction story based on the picture given below. Correct the mistake

she made in the story.

S % Sy Qé Y There are 3 fish. 9 fish swam away. 6 fishes are left
There are fish.
4 &4 fish swam away.
& >q - y

6 fishes are left.
4. Subtract the following.
a)6-1 = d)3-0=

b) 14 -2 = e)9-3=

Q)16 -4 = 10-6=




